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Section : English Language

Q.1 Select the most appropriate synonym of the underlined word in the given sentence.
The event, in a cramped space, was totally bizarre in my view.

Ans 1. Usual
2. Customary
3. Odd

4. Normal

Question ID : 264330143122
Status : Answered
Chosen Option : 3

Q.2 Select the sentence that has the correct use of spellings from the given options.
Ans 1. While the negociation process was complex and at times contentious, the two sides
ultimately reached a mutually benificial aggreement.
2. While the negotiation process was complex and at times contentious, the two sides
ultimately reached a mutually beneficial agreement.
3. While the nagotiation process was complex and at times contencious, the two sides
ultimately reached a mutually beneficial agreement.
4. While the negotiation process was complex and at times contencious, the two sides
ultimately reached a mutually beneficial aggreement.

Question ID : 264330144172
Status : Answered
Chosen Option : 2

Q.3 Select the most appropriate ANTONYM of the given word.
Frugality

Ans 1. Parsimony
2. Extravagance
3. Providence

4. Economy

Question ID : 264330143150
Status : Answered
Chosen Option : 2




Q.4 Select the option that expresses the given sentence in passive voice.
Moti has thrown the balls.
Ans 1. The balls were thrown by Moti.
2. The balls have been thrown by Moti.
3. The balls were being thrown by Moti.

4. The balls had been thrown by Moti.

Question ID : 264330141349
Status : Answered
Chosen Option : 2

Q.5 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.
Since the storm knocked in the power, we've been using candles to light our home.

Ans 1. No substitution required
2. the storm knocked out the power
3. the storm knocked over the power

4. the storm knocked away the power

Question ID : 264330143134
Status : Answered
Chosen Option : 2

Q.6 Select the most appropriate idiom for the given situation.

Geetika spoke a lot about her new movie. However, it came to nothing in the theatres.
Ans 1. To give the devil his dues

2. To get into hot water
3. To dig the grave

4. To end in smoke

Question ID : 264330144118
Status : Answered
Chosen Option : 4

Q.7 Select the most appropriate idiom for the underlined segment in the following
sentence.
Raima takes her classes very attentively.

Ans 1. In accordance with
2. By blazing a trall
3. By losing in a cloud

4. Be all ears

Question ID : 264330141310
Status : Answered
Chosen Option : 4




Q.8 Select the sentence that has the correct use of spellings from the given options.

Ans 1. Althogh the book was difficult to read, | persisted and eventualy understood the

complex ideas.

2. Although the book was difficult to read, | persisted and eventually understood the
complex ideas.

3. Although the book was difficult to read, | persisted and eventualy understood the
complex ideas.

4. Although the book was difficult to read, | persested and eventually understood the
complex ideas.

Question ID : 264330144169
Status : Answered
Chosen Option : 2

Q.9 Select the most appropriate ANTONYM of the word given in brackets to fill in the
blank.
The (friendly) dog wagged its tail, while the cat hissed.

Ans 1. loving
2. welcoming
3. affectionate

4. hostile

Question ID : 264330150166
Status : Answered
Chosen Option : 4

Q.10 Select the option that expresses the following sentence in passive voice.

His brother needed some urgent help at that moment.
Ans 1. Some urgent help was needed by his brother at that moment.

2. Urgent help was needed by his brother at that moment.
3. Some urgent help is needed by his brother at that moment.

4. Some urgent help was needed by his brother at this moment.

Question ID : 264330142598
Status : Answered
Chosen Option : 2

Q.11 Select the most appropriate option that can substitute the underlined words in the
given sentence.

Could you please tell me which languages you are fluent in?
Ans 1. you may be fluent in speaking

2. you speak fluently
3. you fluently speaking

4. you have been fluent in speaking

Question ID : 264330144140
Status : Answered
Chosen Option : 2




Q.12 Select the option that can be used as a one-word substitute for the given group of
words.
A person who lives a secluded or solitary life, often for religious reasons

Ans 1. Extrovert
2. Chauvinist
3. Monk

4. Hypochondriac

Question ID : 264330143933
Status : Answered
Chosen Option : 3

Q.13 Select the most appropriate ANTONYM of the given word.
Acclimatise
Ans 1. Disarrange
2. Prioritise
3. Placate

4. Decriminalise

Question ID : 264330143984
Status : Not Answered
Chosen Option : --

Q.14 Parts of a sentence are given below in jumbled order. Select the option that arranges
the parts in the correct order to form a meaningful sentence.
A) have to deal with
B) about the terrible traffic
C) on his way to work
D) Nishit begins thinking
E) he will surely

Ans 1.A/D,B,C E
2.C,D,B,AE
3.D,B,E,AC
4.E,B,AD,C

Question ID : 264330143916
Status : Answered
Chosen Option : 3

Q.15 Select the most appropriate option that can substitute the underlined words in the
given sentence.

When | reached the market place, the coconuts was already sold.
Ans 1. are already sold
2. have already sell
3. is already sold

4. were already sold

Question ID : 264330144302
Status : Answered
Chosen Option : 4




Q.16 Select the most appropriate ANTONYM of the underlined word in the following
sentence.
Gandhi’s approach, while effective in mobilising large segments of Indian society, was
criticised by some for being passive and overly accommodating.

Ans 1. Reconciling
2. Strenuous
3. Disobliging
4. Gratifying

Question ID : 264330143961
Status : Not Answered
Chosen Option : --

Q.17 Select the most appropriate synonym of the given word.
Tranquil

Ans 1. Anxious
2. Dilemma
3. Fierce

4. Peaceful

Question ID : 264330143208
Status : Answered
Chosen Option : 4

Q.18 Select the grammatically correct version of the following sentence.
The young pirate is more cleverer than the captain of the ship.
Ans 1. The young pirate is cleverer to the captain of the ship.
2. The young pirate is cleverer than the captain of the ship.
3. The young pirate is most clever than the captain of the ship.

4. The younger pirate is cleverer than the captain of the ship.

Question ID : 264330144328
Status : Answered
Chosen Option : 2

Q.19 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, mark ‘No error’ as your answer.

In course by time, / he was wise enough to realise / the mistakes of his past life.
Ans 1. In course by time,
2. he was wise enough to realise
3. the mistakes of his past life.

4. No error

Question ID : 264330148717
Status : Answered
Chosen Option : 1




Q.20 Select the option that can be used as a one-word substitute for the given group of
words.

The study of coins
Ans 1. Currency
2. Minting
3. Numismatics

4. Barter

Question ID : 264330144108
Status : Answered
Chosen Option : 3

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Daniel talks to people about the right to life. He says, “We have the right to live in freedom
and in safety!” but the people do not (1) and they say that the War is a big deal and it
is not up to us nor up to the government. The government knows what to do and only the
government can decide (2) is best. And if the government says that there must be war,
then it must be so. Daniel does not accept this and asks if there is a better solution. As all
wars end with agreements, can’'t we do the agreements without the fighting? Can't the
government solve this (3) ? Isn't that the reason we have a government in the first
place? He decides to (4) to people in his government. He decides to write them and
let them know what he thinks. He knows one opinion does not matter much, but he also
knows that if everyone in his own country and on the other side would do this, there will

(5) be no more wars.

SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank number 1.
Ans 1. grant

2. agree
3. consent

4. announce

Question ID : 264330143906
Status : Answered
Chosen Option : 2




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Daniel talks to people about the right to life. He says, “We have the right to live in freedom
and in safety!” but the people do not (1) and they say that the War is a big deal and it
is not up to us nor up to the government. The government knows what to do and only the
government can decide (2) is best. And if the government says that there must be war,
then it must be so. Daniel does not accept this and asks if there is a better solution. As all
wars end with agreements, can’t we do the agreements without the fighting? Can’t the
government solve this (3) ? Isn’t that the reason we have a government in the first
place? He decides to (4) to people in his government. He decides to write them and
let them know what he thinks. He knows one opinion does not matter much, but he also
knows that if everyone in his own country and on the other side would do this, there will

(5) be no more wars.

SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank number 2.
Ans 1. what

2. when
3. where

4. how

Question ID : 264330143907
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Daniel talks to people about the right to life. He says, “We have the right to live in freedom
and in safety!” but the people do not (1) and they say that the War is a big deal and it
is not up to us nor up to the government. The government knows what to do and only the
government can decide (2) is best. And if the government says that there must be war,
then it must be so. Daniel does not accept this and asks if there is a better solution. As all
wars end with agreements, can’t we do the agreements without the fighting? Can’t the
government solve this (3) ? Isn’t that the reason we have a government in the first
place? He decides to (4) to people in his government. He decides to write them and
let them know what he thinks. He knows one opinion does not matter much, but he also
knows that if everyone in his own country and on the other side would do this, there will

5) be no more wars.

SubQuestion No : 23
Q.23 Select the most appropriate option to fill in blank number 3.
Ans 1. peacefully

2. disruptively
3. compulsorily

4. excitingly

Question ID : 264330143908
Status : Answered
Chosen Option : 1




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Daniel talks to people about the right to life. He says, “We have the right to live in freedom
and in safety!” but the people do not (1) and they say that the War is a big deal and it
is not up to us nor up to the government. The government knows what to do and only the
government can decide (2) is best. And if the government says that there must be war,
then it must be so. Daniel does not accept this and asks if there is a better solution. As all
wars end with agreements, can’t we do the agreements without the fighting? Can’t the
government solve this (3) ? Isn’t that the reason we have a government in the first
place? He decides to (4) to people in his government. He decides to write them and
let them know what he thinks. He knows one opinion does not matter much, but he also
knows that if everyone in his own country and on the other side would do this, there will

(5) be no more wars.

SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank number 4.
Ans 1. speak

2. chat
3. declare

4. blabber

Question ID : 264330143909
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Daniel talks to people about the right to life. He says, “We have the right to live in freedom
and in safety!” but the people do not (1) and they say that the War is a big deal and it
is not up to us nor up to the government. The government knows what to do and only the
government can decide (2) is best. And if the government says that there must be war,
then it must be so. Daniel does not accept this and asks if there is a better solution. As all
wars end with agreements, can’t we do the agreements without the fighting? Can’t the
government solve this (3) ? Isn’t that the reason we have a government in the first
place? He decides to (4) to people in his government. He decides to write them and
let them know what he thinks. He knows one opinion does not matter much, but he also
knows that if everyone in his own country and on the other side would do this, there will

5) be no more wars.

SubQuestion No : 25
Q.25 Select the most appropriate option to fill in blank number 5.
Ans 1. doubtlessly

2. wabbly
3. absurdly
4. probably

Question ID : 264330143910
Status : Answered
Chosen Option : 4

Section : General Intelligence




Q.1

Ans 1.
2.
3.
Question ID : 264330146935
4. Status : Answered
Chosen Option : 3
Q.2
Ans 1. Obtain : Procure
2. Distress : Trouble
3. .
True : Correct Question ID : 264330150893
4. Idle - Active Status : Answered
Chosen Option : 4
Q.3
Ans 1
2.1
3.8
4.
5 Question ID : 264330146578
Status : Answered
Chosen Option : 4
Q.4
Ans 1. 361
2. 349
3. 378
4. 382

Question ID : 264330146382
Status : Answered
Chosen Option : 1




Q5

Ans

1 —and +
2. +and -
3 +and x
4 +and x

Question ID : 264330150916
Status : Answered
Chosen Option : 3

Q.6 Read the given statements and conclusions carefully. You have to take the given statements to be true even if they

Ans

Conclusions: (1) Some Cheese are Eggs.

(I1) Some Bagels are Smiles.

1. Only conclusion (I1) follows.
2. Only conclusion (1) follows.
3. Both conclusions (1) and {1l) do not follow.

4. Both conclusions (1) and (11) follow.

seem to be at variance from commonly known facts. You have to decide which conclusion/s logically and definitely
follow/s from the given statements.

Statements: Some Bagels are Eggs. Some Bagels are Cheese. Some Cheese are Smiles.

Question ID : 264330151161
Status : Answered
Chosen Option : 3

Q.7 Tisthe mother of §'s father. U is the wife of 5. V is the only son of W who is married to T. X is the daughter of U. Y is

Ans

the brother of X and married to Z. How is S related to Z?

1. Husband’s mother
2. Hushand’s father
3. Wife's mother
4. Wife's brother

Question ID : 264330150848
Status : Answered
Chosen Option : 2




Q.8

Ans

OO

000

Q0

000

000

00

000

000

000

QO

000

QO

0000

000

o000

000

Question ID : 264330146311
Status : Answered
Chosen Option : 1




Q.9

Ans
) ﬁ
Question ID : 264330146480
Status : Answered
Chosen Option : 3
Q.10
Ans 1.
2.
3.
4 Question ID : 264330147066

Status : Answered
Chosen Option : 2




Q.11

Ans 1. 32
2. 59
3.
4. 44 Question ID : 264330147355
Status : Answered
Chosen Option : 3
Q.12
Ans 1.
2.
3.
4.
Question ID : 264330147306
Status : Answered
Chosen Option : 3
Q.13
Ans 1.
2.
3.
4,
Question ID : 264330146941
Status : Not Answered
Chosen Option : --
Q.14
Ans 1.
2.
3.
4,

Question ID : 264330147483
Status : Answered
Chosen Option : 2




Q.15

Ans 1. 19
2. 20
3. 21
4. 22
Question ID : 264330151012
Status : Answered
Chosen Option : 2
Q.16
Ans 1L.535:10
2. 80:13
3.20:3
4. .
95:18 Question ID : 264330150875
Status : Not Answered
Chosen Option : --
Q.17
Ans 1.
2.
3.
4 Question ID : 264330146700
' Status : Answered
Chosen Option : 2
Q.18
Ans 1. 6
2. 9
3. 5
4. 7

Question ID : 264330146572
Status : Answered
Chosen Option : 4




Q.19

Ans

1.
2.
3.
4.
Question ID : 264330146571
Status : Answered
Chosen Option : 2
Q.20
Ans 110
2.7
3.
4.9
Question ID : 264330147347
Status : Answered
Chosen Option : 3
Q.21
Ans 1. 71
2.
3. 73
4. g9 Question ID : 264330146417

Status : Answered
Chosen Option : 3




Q.22

Ans

1.
2.
3. Question ID : 264330150999
. i i Status : Answered
4. Neither conclusion (I) nor (II) is true. Chosen Option : 4
Q.23
Ans 1
2.
3.
4 Question ID : 264330146316
Status : Answered
Chosen Option : 1
Q.24
Ans 1. 60-18-21
2.35-16-18
3. 86-36-100
4 = Question ID : 264330150911
22-5-23 Status : Not Answered

Chosen Option : --




Q.25

Ans 1.

4 Question ID : 264330147323
Status : Answered
Chosen Option : 1

Section : Quantitative Aptitude

Q.1
Ans
1.
2.
3.
4. i
Question ID : 264330147615

Status : Not Answered
Chosen Option : --




Q.2

Ans

1 120%
2. 300%
3. 140%
4. 250%

Question ID : 264330149061
Status : Answered
Chosen Option : 4

Q.3

Ans

1. 128°

2. 1267

3. 122°
4. 1247

Question ID : 264330150841
Status : Answered
Chosen Option : 2




Q4

Ans 1. 28
2. 0.7
3.
4 6.4
Question ID : 264330148852
Status : Answered
Chosen Option : 3
Q.5
Ans 1.
2.1
3.
4,
Question ID : 264330147650
Status : Answered
Chosen Option : 2
Q.6
Ans 1.
2.
3.
4. Question ID : 264330149336
Status : Not Answered
Chosen Option : --
Q.7
Ans

L 18v6
2.124/15
3 30V6
4. 5@

Question ID : 264330147803
Status : Not Answered
Chosen Option : --




Q.8

Ans
L sec?A
2.
3.
4 Tan2A
Question ID : 264330146437
Status : Not Answered
Chosen Option : --
Q.9
Ans 1. Profit, 10%

2. Loss, 10%
Loss, 20%

w

»

Profit, 20% Question ID : 264330147780
Status : Answered

Chosen Option : 2

Q10 17 . 1
If a® + — = —, then what is the value cmf(a3 ——g)?
a 3 a

Ans

Question ID : 264330148080
Status : Not Answered
Chosen Option : --




Q.11

Ans
Question ID : 264330147658
Status : Answered
Chosen Option : 3
Q.12
Ans . 55
- 20
- 10
75 Question ID : 264330147790
' Status : Answered
Chosen Option : 3
Q.13
Ans .24
27
- 30
- 21
Question ID : 264330148115
Status : Answered
Chosen Option : 4
Q.14
Ans

Question ID : 264330147727
Status : Answered
Chosen Option : 3




Q.15

Ans 1.1:3
2. 223
3.1:1
41:2 Question ID : 264330149257
Status : Answered
Chosen Option : 1
Q.16
Ans 1
2.
3.
4,
Question ID : 264330147685
Status : Not Answered
Chosen Option : --
Q.17
Ans
1 2 cos? A+l
2.
3.
4,
Question ID : 264330148179
Status : Answered
Chosen Option : 2
Q.18
Ans 1.
2.
3.
4,

Question ID : 264330148197
Status : Answered
Chosen Option : 3




Q.19

Ans 1.
2.
3.
4,
Question ID : 264330150577
Status : Answered
Chosen Option : 1
Q.20
Ans 1.
2. 207
3. 335
4. 313
Question ID : 264330148092
Status : Answered
Chosen Option : 2
Q.21
Ans 1.
2. 31,742
3. 71,698
4. Question ID : 264330148103
Status : Answered
Chosen Option : 1
Q.22
ANS 14208
2. 6,822
3. 8,422
Question ID : 264330151049
4. 8,242 Status : Answered

Chosen Option : 1




Q.23

Ans 1.
2.
3.
4.
Question ID : 264330148418
Status : Not Answered
Chosen Option : --
Q.24
Ans 1. 144
2.185
uestion ID : 264330149774
3. 168 © ,
Status : Not Answered
4. 172 Chosen Option : --
Q.25
Ans 1.
2.
3. 62
460

Question ID : 264330146844
Status : Answered
Chosen Option : 3

Section : General Awareness




Q.1 Which of the following diseases is a potential contender for worldwide eradication?

Ans 1. Polio
2.
3. Measles
4. Malaria
Question ID : 264330150149
Status : Answered
Chosen Option : 1
Q.2
Ans 1.7
2.5
3. 6
4. 8
Question ID : 264330145889
Status : Not Answered
Chosen Option : --
Q.3
Ans 1.
2.
3.
4.
Question ID : 264330145567
Status : Answered
Chosen Option : 1
Q.4
Ans 1.
2.
3.
4. Question ID : 264330148589

Status : Answered
Chosen Option : 3




Q5 Who was the author of the book *Vrihat Katha Kosha’?

Ans 1. Laxmidhar

2.
3. Harisena
4,
Question ID : 264330150200
Status : Not Answered
Chosen Option : --
Q.6
Ans 1.
2.
3.
4,
Question ID : 264330144697
Status : Answered
Chosen Option : 4
Q.7
Ans 1.
2.
3.
4.
Question ID : 264330149349
Status : Answered
Chosen Option : 1
Q.8
Ans 1 2021
2. 2022
3.
4,

Question ID : 264330146108
Status : Not Answered
Chosen Option : --




Q.9

Ans 1.
2.
3.
4, .
Question ID : 264330145977
Status : Not Answered
Chosen Option : --
Q.10
Ans 1.
2.
3.
4. Question ID : 264330150426
Status : Answered
Chosen Option : 2
Q.11 Which of the following Indian pairs won the gold medal in Badminton in Commonwealth Games -2022 held in August
20227
Ans 1. Chirag Shetty and Lakshya Sen
2. Satwiksairaj Rankireddy and Lakshya Sen
3. Satwiksairaj Rankireddy and Chirag Shetty
4. Srikanth Kidambi and Lakshya Sen Question ID : 264330154909
Status : Answered
Chosen Option : 3
Q.12
Ans 1. BWk
2. Aw
3. CWh
4. Dw Question ID : 264330154912

Status : Not Answered
Chosen Option : --




Q.13

Ans 132000
2. 2,500
3. 71,500
Question ID : 264330150048
4.
1,000 Status : Answered
Chosen Option : 1
Q.14
Ans . Bihu
- Kathak
Question ID : 264330150292
Status : Not Answered
Chosen Option : --
Q.15
Ans 1.
2.
3.
4. Question ID : 264330145788
Status : Answered
Chosen Option : 4
Q.16
Ans

Question ID : 264330144467
Status : Not Answered
Chosen Option : --




Q.17

Ans

1.
2.
3.
4.3
Question ID : 264330144469
Status : Answered
Chosen Option : 1
Q.18
Ans L Goa
2. Punjab
3. Gujarat
4. Haryana
Question ID : 264330148671
Status : Answered
Chosen Option : 3
Q.19
Ans 1.
2.
3.
4. Question ID : 264330145861
Status : Answered
Chosen Option : 4
Q.20
Ans 1
2.
3.
4.

Question ID : 264330145929
Status : Answered
Chosen Option : 4




Q.21

Ans 1.
2.
3.
4.,
Question ID : 264330145692
Status : Answered
Chosen Option : 4
Q.22
Ans 1.
2.
3.
4. .
Question ID : 264330150420
Status : Not Answered
Chosen Option : --
Q.23
Ans 1.
2.
3.
4.,

Question ID : 264330145762
Status : Answered
Chosen Option : 4

Q2% The Jog Falls, one of the highest waterfalls in India is the cataract of which river?

Ans 1. Narmada

2.

3.

4. Cauvery Question ID : 264330150267
Status : Answered
Chosen Option : 3




Q.25

Ans

1. Karnataka

2. Kerala
3.

4. Tamil Nadu

Question ID : 264330152560
Status : Answered
Chosen Option : 4






